6H2

m
>3
H
Hi

H

Nv=—FR-)ER 3 F B & =

6HA3H

-~
i
3
WE
S

25 - 12
2= o

25 - 9
225—70_@

25 - 17
2025 - 17|10

i}

6H4H

REB—5D:Q

%ﬁl%zgiﬁoﬁﬁli

RB—7Q2:@

AT R —TO:@

%wl%zgzﬂo R

HEX:
REE:
HEE"
=
HEEE
25 - 14
2E:E|O
8] = K

25 - 19
2025 - 13|10

25 -
2|

16
5o

25 — 20
2= = o

6HA3H

6H2H

25 — 20
2= 3o

25 - 21
2125 - 8|0

O

25 - 15
2~ o

]
E

H

i
H

BEF—

I ot
H B
3 2t
= [3]

g:@o IR

R —7D:Q@

o}

%ml%zgiﬂonw%—

RBI—I:@

WHTE L2 :%1 IR

=
I EE:
EE # =

28 — 26
25 - 16
A
25 - 22
B
ERIx
2 5Y 15[EF
g1l BRIx ] 3% 08X
gofl SWE— 1 2B 1K
FE3[ WHEIE ] 15 2K
gail k& H ] 0 3W

21
2|25 -

- 25
11
25 - 12

—_
(3]

w
7
¥i

BTRE—52:Q
25 -

:%1wm1¥
19

25 - 17
2= o

i1}
4t
1}
B
=

@2—

25 - 13
2[5~ o

25 — 21
2= o

16 — 25
2(27 - 25| 1
25 - 23

FlithRk

Tt
R
&
3] [2]

H
~

oL}
~




\)—J BIRGLR E 2R

-

E£2EEFIRBEARTXRE

Xl

B

T Bl

BF

=it B

F 246 A2H~6H4H

=5

_Ié.l_*.L\Fﬁ ‘:L.\

rEEE

KREFIEOT, RERIZG2EF—LDHQLUT DFIETIEMZREL TV, L mfl[XZE - ZINDFZEIZOHFIET B,
KB RHOBE-2R. BE-1R. BE-RIN-0RZEATHEZT S, UL BRNAL—R—ILBEBEERAIZES,
FIEOS =R L4

FlgQEZE LA FIEQEZE AL

= ¥ = | & \ =5 %
EMIX|S0E TRl RO [ HE tyhE RA R iz
E 3T T & z R
= g T = 25 - 16 25 - 20 25 - 21 i 2% 5 3 B/tybk 6] 1= 150
2i25 - 14i0|2i25 - 15i0|2i25 - 11i0] &lTHKk o] 6 |£&tvk o] k5 97] 1
F - - - e 1.0000 TyhE RAURE| 15464 iz
o m 16 25 25 - 21 25 - 22; | BHH 2 "Fuk 4 #BR 149
= R 0i14 25 2 * 2:19 - 251 25 - 20i0| &l 1| 5 | &tvk 3| k= 157 2
g N 25 - 19 = % | 06667 yhE | 1.3333 |RarorE| 0.9490 i
o T 20 25 21 — 25 25 - 14 H%B%lﬁz 1 /b 3| /R 177
0i15 — 25i2]|1i25 — 19 * 24 - 26 1| BIHHK 2| 4 | xtvk 5| % 185 3
F 19 — 25 28 - 26 f%E | 0.3333 vk | 0.6000 |RArE| 0.9568 iz
o 21 25 22 — 25 14 — 25 224 0 /tub 11 &R 140
0i11 25:2|0:20 — 25 1126 — 24i2 * &+ 3] 3 | ktVh 6] km 177 4
F - 26 — 28 B | 0.0000 k| 0.1667 |R1rE| 0.7910 v






